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Cluster: 0190 ptr; resid: 0.25; r/c: 33/80

x.range

upstream meme PSSM #1; e=4.4e+04
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string −500 −400 −300 −200 −100 −1
60421NA
51757−0.02
48613−0.07
37124−0.12
17967−0.17
28833−0.26
33675−0.33
35336−0.35
46174−0.35
42650−0.36
12989−0.41

5423−0.64
31713−1.18
45207−1.24
44748−1.34

5762−1.34
21420−1.38

4550−1.41
13123−1.55
19699−1.56

7293−1.76
7294−1.76

49056−1.89
32976−2.02
35154−2.50
45899−2.51
13034−3.95

9634−4.51
35647−4.61
45813−4.68
12233−5.11
12620−6.26
10824−7.05

log10(P) upstream meme1 2 log10(P.clust)=−1.96; 33 seqs; 32 uniq
c(0.5, 2.5)
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